IER BRBSEBRATS/NEHEIS

£ i ik - TRk By | M OB B & = wE o

EEIFR : 5, 226, 000. 0

METER 373,618 + 2,116,095 + 1,281,201 + 3, 086 _ 3,774,000.0
iR 373,618.0
HBIRFE (F) 5, 226, 000 X 8.06 % X 0.887 373, 618.0
RISEER | 2,116, 095. 0
RIGEER (F) 5,599, 618 X 37.79 % 2,116, 095. 0
—REER 1,281, 201. 0
—REBER () 7,715,713 X 16.64 % - 2,693 1,281, 201. 0
LRI 7,715,713 X 0.04 % 3, 086. 0
T ik 5,226,000 + 3,774, 000 9,000, 000. 0
] L E T 3,000, 000 X 10 % ' 900, 000. 0
BATER 9,000,000 + 900, 000 9, 900, 000. 0




BHBEEBTSNEMETLS

(5020

% L g - FARTE LX) H 8 i & # i
EEISH 5, 226, 000. 0
Fr&siee 5, 226, 000. 0
EERRIE 1,964, 000. 0
SAERRI5 1, 964, 000. 0
1 SIS 680. 00 1,000/ 680, 000. 0
2 AfmA B 1, 360. 00 - 400 544, 000. 0]
3 ABAYaL— hEE B 680. 00° 400 272,000. 0
4 F12 B 680. 00 600 408, 000. 0
b FEERER , K 2.00° 30, 000 60, 000. 0
' R
HEHEE TR 3, 262, 000. 0
BRIE 3, 262, 000. 0
6 Bl EE-BEME Uhy b —IHMRHELE BHRL. BEEDE 8.00° 31,000 248, 000. 0
T B ZEzE - Bh ZERE THOE 2% | e 9.00° 30, 000 270, 000. 0
8 B YEH-BE N i 2.00° 25, 000" 50, 000. 0
9 Ml EE-BEHEE Uhy b —IHRELL BHRL. BESDE o 29.00 - 31,000 899, 000. 0
10 Bl ZMRHME - BEh | ZRIRE, THLE 2R B 5.00- 30, 000 150, 000. 0
(2T A =t e = F o 1.00 - 25, 0001 25,000. 0




BEMNRE EE SRR RN R ETE

£ b1 g - IKTE BT H B B & B W E s =
12 @l 3YoU—MBRWY. #HkE EORL. BEaDE 1.00 - 95, 000° 95, 000. 0f
Gl
13 Bl EAEYE §% - BERRE. THWE, BE 2.00 - 48, 000 96, 000. 0
) 510 -
14 Bl %ZHFHLERE , 2.00° 38, 000 76, 000. 0[
Gl
15 4t EE - BEMHE (Uhy P —IUHRIELE, EHRL. BESDE 25. 00 31,000/ 775, 000. 0f
, Gl
16 el ZEE{L - BEh | BERE. THOE, 28 12. 00- 30, 000 360, 000. 0/
[0z
17 4Ll v EH - AE 2.00° 25, 000 50, 000. 0"
Elzis § '
18 dtfll 3> U— MBRR FRY, kL. BHRL. EEabt 1.00° 120, 000 120, 000. 0°
Gl
19 4t FAEYE 5% - BERE. THOE, BE 1.00- 48, 000 48, 000. 0]
: &z




KR - I/ yoT—2 | BRHEZSEHATENEMETIS

B#S 1
£ SRS iy
% ’ G R - B KT & B A B & B ff * B W=
NMEE ' ' i 1.00 1,000.00 1,000
a & 1,000.00 1,000
#s . 2
£ . REIMER A T m %y
% i} s - BRI B % = i * %8 wm =
Afalrh K . m 1.00 400.00 400
& 5 400,00 400
Eﬁ %g‘ﬂ)“y*’/l*/—f*ﬁi g T m &y
% g , R - Tkt iE B % = B ® % W=
S AVS 2L — R m 1.00 400.00 | 400
& B : ’ ' 400.00 400
#= . 4 '
2% . F 1 m %y
£ R AR - K& B % = L i ® B W=
F2 , \ ni 1.00 600.00 600
a & 600.00 600




RS - BT/ r— | EESEERF SN T

#S : 56
£H . R | 1 EET 4y
% i) B -TRTE Bl % & | B {f * % m =
FIEREEE el 1.00 30,000.00 30,000
a & 30,000.00 30,000
#S . 6 :
£ . @l EE-BRMEE : 1 @A &Y
% R RE-TR~iE B % = B ff * % H =
Fafll EE-BREE | [E3l3i8 1.00 31,000.06 31,006
& B | | 31,000.00 31,000
#S . 7
2% B BEEE-h S
% FR R - TR B % B ff = % #ﬁi =
A RS- Fh B 1.00 30,000.06 30,000
& H - 30,000.00 30,000
EE\ ﬁfﬁﬂ HEt-8E 1 & 2y
% i} AR - RR ST R B M| #H = L i * % woO=E
Bl HEH-EE & 1.00 25,000.00 25,000
& s 25,000.00 25,000




RER-EI/NNvT—2 EEBEERRTS/NERETS

&5 9 :
A% - Ml EE-BREE 1 BT By
% 5 R - FR % B M| % = B ff * % W =
Bl EE-BREE B FT 1.00 31,000.00 31,000
= &t 31,000.00 31,000
#5 . 10 :
& . mfl BES{E-Fh 1 Eﬁﬁéu
£ g ‘ B -FRT & Bl % = B * W =
mfl ZELE-Eh B FT 1.00 30,000.00 30,000
a &t 30,000.00 30,000
#=s M
2% . mfll YeEt-aE 1 @A &Y
£ i B - Rkt & B % S B @ * % H =
R HEt- B Elzi 1.00 25,000.00 25,000
a &t 25,000.00 25,000
#5 . 12
2% . @l 3o —HMRR 1 ERT HY
% g B -RekHik Bl % = B ff * % m =
il av Y- MER (il 1.00 95,000.00 95,000
& 3 ‘ 95,000.00 95,000



RER-EI/NvT—2 BHEESEERTSNEHELS

#S . 13
- Ml BEKEYE . 1 BT 5Y
% g B - TR~ & B % = B (f * %8 wmoO=
RIfEl ERKEYE Elzil 1.00 48,000.00 48,000
& it 48,000.00 48,000
#5 . 14 |
2% . mfl XHEEEE : 1 B 4Y
% i) B -fR~E B % & B ff ® % Hm =
Bl XS EHE » ekt 1.00 38,000.00 38,000
a & | 38,000.00 38,000
&5 . 15 : :
&% dbfll EE-BRAEE 1 R &Y
% G B - TR~ iE B % & B ff = %8 w =
B - B ol 100| 3100000 31,000
& H ' , 31,000.00 31,000
Eg @ BEEh | wy
% FR : Bk - TR T & B u ¥ = B ff & % m =
it ZEpELie-Eh BT 1.00 30,000.60 30,000
a & 30,000.00 30,000




iR - feL/Ny T —2 BREESSEHATENEMETIS

B5S . 17 : .
£F A YEH+-BE | sy
% i g - AR & B % 8 Bl £ % Hm =
ALl #E‘5+-5§ B R 1.00 25,000.06 25,000
=) & 25,000.00 25,000
#5 . 18 :
£ . dtfl 2 oU—MER 1 ER 4y
% FR B -RTE B % § Bl * %8 H =
LB avHy—hER el 1.00 120,000.00 120,000
a & 120,000.00 120,000
#5 . 19
2% . 4Ll BAKESE T
£ FR A - Rkt iE B % 5 ‘B fff * %8 H =
el ERAEHE El 1.00 48,000.00 48,000
= & 48,000.00 48,000




